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1. 13.60 is what percentage of 807
(i) 17.00% (ii) 18.00% (iii) 16.00% (iv) 19.00% (v) 15.00%

2. How much is 2.00% of 907
(i) 9.8 (ii) 1.8 (iii)) 0.8 (iv) 3.8 (v) 2.8
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(i) 31.33% (i) 33.33% (iii) 32.33% (iv) 34.33% (v) 35.33%
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(i) 96.24% (i) 95.24% (iii) 97.24% (iv) 94.24% (v) 93.24%
10. 0.20=

(i) 20.00% (i) 22.00% (iii) 21.00% (iv) 18.00% (v) 19.00%
11. 0.54=

(i) 53.00% (i) 52.00% (iii) 54.00% (iv) 56.00% (v) 55.00%
12. 7.00=

(i) 698.00% (ii) 700.00% (iii)) 701.00% (iv) 699.00% (v) 702.00%
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100.00% =
(i) O (i) 2 (i) 3 (iv) 9 (v) 1

10.00% =
(i) 0.1 (i) 1.1 (i) 8.1 (iv) 2.1 (v) 7.1

51.00% =
(i) 1.51 (ii) 8.51 (iii) 2.51 (iv) 7.51 (v) 0.51

Out of 46 articles, 4 were damaged. What is the percentage of good articles?

(i) 90.30% (ii) 91.30% (iii) 89.30% (iv) 92.30% (v) 93.30%

Out of 856 articles, 80 were damaged. What is the percentage of good articles?

(i) 90.65% (ii) 92.65% (iii)) 91.65% (iv) 88.65% (v) 89.65%

10.00% of a number is 50.00. What is 3.00% of the number?
(i) 15 (ii) 16 (iii) 14 (iv) 17 (v) 13

26.00% of a number is 572.00. What is 40.00% of the number?
(i) 880 (ii) 879 (iii) 881 (iv) 882 (v) 878

The cost of an article is £80.00. If it is increased by 6.00%, what is the new cost of the article?

(i) X83.80 (ii) X84.80 (iii)) X86.80 (iv) X82.80 (v) X85.80

The cost of an article is X20.00. If it is decreased by 5.00%, what is the new cost of the article?

(i) X20.00 (ii) X17.00 (iii)) X19.00 (iv) X21.00 (v) X18.00

If initial value is V, new value after r% increase is
100 —r 100 —r 100+ 100 +r
} - XV

(i) ] XV (ii) 100 XV (iii) ] XV (iv) 100

If initial value is V, new value after r% decrease is
100 +r 100 —r 100 —r 100 +r
XV

(i) . XV (ii) . XV (iii) 100 XV (iv) 100

What percentage of the figure is shaded?

(i) 27.78% (ii) 25.78% (iii)) 28.78% (iv) 29.78% (v) 26.78%



25. What percentage of the figure is shaded?

(i) 21.05% (ii) 19.05% (iii)) 22.05% (iv) 20.05% (v) 23.05%
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